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Part A: Grammar & Vocabulary

76- Do you know anybody ................... tobuy acar?
1) who want 2) that wants 3) whom you want 4) that you want him
77-1 haveacar.| ... travel very much if | ... acar.
1) couldn’t/ didn’'t have 2) can't/ have
3) could / had 4) can / have
78- I've never seen these flowersbefore. What .................... ?
1) arethey called 2) do they call 3) are called them 4) have they called
79- As far as | know Jim, and according to what his mum told about him, he hates football and never plays it,
.................... ?
1) don't | 2) didn’t she 3) doesn’t he 4) does he
80- A(N) ceriiieeene robot was designed to solve some of the problemsthat are difficult for humans.
1) elementary 2) intermediate 3) advanced 4) monolingual
81- The teacher asked usto writetheword .........c.......... for the new words. In other words, he wanted usto decide
whether each word was a verb, a noun, an adjective or an adverb.
1) enteries 2) symbols 3) types 4) meanings
82- Medical researchersaretryingtofind the..................... of thevirus so that they can prevent its spread.
1) issue 2) origin 3) strategy 4) relation
83- There were street vendors who sold ice cream and hot dogs from their .................... , but because | was on a diet,
| didn’t buy anything.
1) figures 2) sections 3) crops 4) stands
84- | try to be hospitableto foreigners. It'sagainst all my ..........c........ to behave badly toward them.
1) blessings 2) heritages 3) generations 4) principles
85- He' sbeen taken to hospital wherehiscondition isdescribed as.................... . That’swhy we areworried about him.
1) generous 2) serious 3) developed 4) accidental
86- For such afamous, rich man, his personal lifewas.................... simpleand ordinary.
1) morally 2) gratefully 3) surprisingly 4) unconditionally
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87- She had a very happy childhood, and | guess her confidenceisa.................... of that.
1) product 2) guide 3) duty 4) challenge

Part B: Cloze Test
The passage of heat from one place to another by the movement of liquid or gasis called convection, ...(88)... it
takes place when the temperature of one part of liquid or gas is different from that of another part. When a
liquid is heated it ...(89)... dightly so that the hot liquid is lighter than the surrounding colder liquid
and ...(90)... rises. In an electric kettle the wavy currentsfor hot water ...(91)... rising from the element when
the eectricity has just been switched on. A radiator or hot water tank is always hotter at the top than at the
bottom for this...(92)... .

88- 1) and 2) or 3) but 4) so

89- 1) compiles 2) pollutes 3) expands 4) solves
90- 1) however 2) therefore 3) rather than 4) while

91- 1) can see 2) can be seen 3) be seen 4) to be seen
92- 1) purpose 2) claim 3) result 4) reason

Part C: Reading Comprehension

Passage 1
Most scientiststhink that by resting our bodies, we allow time for essential maintenance work to be done. Any
damage that there is can be put right more quickly if energy isn’t being used up doing other things. Injured
animals certainly spend more time asleep than usual while their wounds are healing. And quite a few illnesses
make us feel sleepy so our body can get on with curing us.
Sleep iscontrolled by certain chemicals. These build up during the day, eventually reaching levelsthat make us
tired. We can control the effects of these chemicals to some extent. Caffeine helps to keep us awake while some
medicines make us sleepy.
By using electrodes, scientists are able to study what goes on in people's heads while they sleep. They have
discovered that when we first drop off, everything slows down. The heart beast more slowly and our breathing
becomes shallow. After about 90 minutes our eyes start to twitch and we go into what is called REM sleep.
REM standsfor Rapid Eye Movement, and it’sa sign that we've started to dream.

93- The best titlefor the passageis.......ccccceueeen. .
1) Why We Dream 2) Facts about Sleep
3) Effect of Chemicalson Sleep 4) Effect of Sleep on Health

94- What causeshuman sleep is........c.coeuenee. .
1) some chemicals 2) the need to store energy
3) some wounds and illnesses 4) the lowing down of our heartbeat

95- Theword "twitch" in line 10 isclosest in meaning to .................... .
1) drop 2) close 3) move 4) become heavy

96- According to the passage, all of the followings happen during sleep EXCEPT .................... .

1) shallow breath 2) less heart activity
3) Rapid Eye Movement 4) increased need for caffeine
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Passage 2
The dependence on motor vehicles has given rise to major problems, including environmental pollution,
decrease of oil resources, traffic jams and safety-related issues.
While the pollutants from new cars are far less harmful than they used to be, city streets and motorways are
becoming mor e crowded than ever. This problem makestheair quality unpleasant and sometimes danger ousto
breathe.
Technical solutions can reduce the pollution problem and increase the fuel capability of engines. Many people
buy larger carsthan they need for daily purposes or waste fuel by driving fast.
One solution that has been put forward is the long-term solution of designing cities and neighbor hoods so that
car journeys are not necessary — all essential services being located within walking distance or easily available
by public transport. Not only would this save ener gy and decr ease car bon dioxide, but it would also increase the
quality of community life, putting the emphasis on people instead of cars. Better transport systems are also
possible by the use of modern computers. But these are solutions for countries which can afford them.

97- According to the passage, it isTRUE that .................... .
1) nowadays air pollution has been reduced a lot
2) the consumption of fuel increases when one drives fast
3) the use of carsfor travel to places within walking distance has been reduced
4) most of the countries around the world use modern computers to reduce fuel consumption

98- One way to reduce the number of car journeysisto .......ccc....... .
1) decrease oil resources 2) make people drive faster
3) build more streets and motorways 4) place essential services close to public transport

99- Theword "them" inthelast linerefersto......ccccune.n. .
1) cars 2) solutions 3) computers 4) countries

100- Thephrase" given riseto" inline lisclosest in meaning to .......ccccceue... .
1) caused 2) replaced 3) solved 4) continued
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